Evaluation of 300 WP Solar Photovoltaic Panel Performance for Electric Vehicle Charging Station

Brainvendra Widi Dionova* ⁽¹⁾, Rudi Junjung P.S ⁽²⁾, Devan Junesco Vresdian ⁽³⁾, Legenda Prameswono Pratama⁽⁴⁾, Muhammad Irsyad Abdullah⁽⁵⁾, M. N. Mohammed⁽⁶⁾, Sinka Wilyanti⁽⁷⁾

1,2,3,4,7 Electrical Engineering Department, Jakarta Global University, Jakarta, Indonesia

⁵Faculty of Information Sciences & Engineering, Management and Science University, Shah, Malaysia

⁶Mechanical Engineering Department, College of Engineering, Gulf University, Sanad, Kingdom of Bahrain

Email address: *brainvendra@jgu.ac.id

Abstract—Conventional transportation methods result in the release of harmful greenhouse gases into the environment. Electric vehicles offer an alternative to mitigate this environmental harm. Electric Vehicle Charging Stations (EVCS) are crucial infrastructure components for supporting electric vehicles. Photovoltaics represents a facet that can be integrated into EVCS to improve eco-friendly power generation. Various factors, including temperature, humidity, and light intensity, influence electricity generation in photovoltaic (PV) systems. This research examines the consequences of temperature, humidity, and light intensity fluctuations within EVCS. During the system integration testing conducted between 09:00 and 16:00, it was noted that there is an inverse relationship between air humidity and temperature; when air humidity increases, temperature decreases, and vice versa. The solar panel exhibits its highest sunlight intensity reception between 09:30 and 15:30. The peak power output from the solar panel was registered at 13:00, with an air temperature of 40.40°C, air humidity at 35%, and light intensity at 54.61 Cd, resulting in a solar panel power output of 146.1 Watts. Conversely, the lowest power output from the solar panel was observed at 16:00, with an air temperature of 31.80°C, air humidity at 54%, and light intensity at 39.39 Cd, leading to a solar panel power output of 107.36 Watts. Anticipated findings from these analyses are expected to contribute to future technological advancements, enabling the creation of competitive products in the market.

Keywords— Electric Vehicle Charging Station (EVCS), Photovoltaic, Performance, Electric Vehicle (EV)

I. INTRODUCTION

In the contemporary era of human civilization, the availability of electricity is considered a basic entitlement for all individuals. Numerous sources, including fossil fuels, biogas, geothermal energy, nuclear power, oil, wind, and solar energy, have the capacity to produce electrical power [1], [2]. Renewable energy holds significant promise, with solar power being a prime example. It involves capturing sunlight and transforming it into electrical energy through the utilization of solar panels [3], [4]. Nonetheless, harnessing this energy resource is not without its drawbacks, which are linked to weather patterns and environmental elements. These factors can affect the sunlight absorption capacity of solar panels. Hence, it is crucial to evaluate the level of light intensity in the vicinity where solar panels are to be positioned when calculating the power generation system's capacity [5].

The power produced by solar panels relies not solely on the level of incoming radiation but also on the rising temperature of the solar panel's surface, which has the potential to diminish the voltage level. Changes in temperature affecting solar panels are attributed to both the surrounding environmental temperature and the silicon material itself. When the surface temperature of the solar panel rises, it leads to a reduction in power output, while greater radiation levels result in higher power generation by the solar panel [6], [7]. The main issue with solar energy is the instability of power output from solar panels as it heavily relies on the received sunlight intensity. The amount of sunlight received by solar panels can be optimized by installing them at the correct tilt angle, ensuring maximum power output (Hariningrum & Artikel, n.d., 2021). Air humidity is a term that refers to the moisture content present in the atmosphere. High humidity levels lead to the condensation of pollutant particles, preventing them from rising into the atmosphere. As a result, the atmosphere maintains high clarity, allowing sunlight to reach solar cells unobstructed. This phenomenon is one of the effects that reduce the absorption of solar energy by solar panels [9], [10].

The current trend is a growing interest in electric vehicles, which will lead to a significant surge in demand in the Indonesian automotive market. Undoubtedly, the demand for electric vehicle charging infrastructure will also continue to grow. There will be a substantial need for Electric Vehicle Charging Stations, sparking competition among governmental, private, and corporate stakeholders [11], [12]. As Electric Vehicle Charging Stations evolve in the future, it will inevitably be influenced by a range of competitive factors, including product quality, pricing, service, and other related aspects [13].

Considering these challenges, this research aims to concentrate on the examination of environmental temperature and humidity, which represent significant obstacles in the solar energy-based electricity production process. It is anticipated that the findings from these analyses will play a role in advancing this technology in the future, leading to the creation of a product that can compete effectively in the market.

II. METHODS

A solar cell is a device that transforms sunlight into electric power by utilizing the photovoltaic phenomenon, which is why it is commonly known as a photovoltaic cell. These solar cells are semiconductor instruments with the capacity to directly convert sunlight into direct current (DC) electricity, employing thin silicon (Si) crystals. The solar panels employed in this study have specific characteristics: two 150wp Mono Crystalline Solar Panels, capable of producing a maximum voltage of 18.3 V and a peak current of 16.26 A [14], [15].



Fig.1. 300 WP Photovoltaic connected into parallel

DHT11 sensors are instruments utilized to gauge heat levels by transforming them into measurable electrical parameters, allowing for the assessment of the heat's extent. The DHT11, on the other hand, is a sensor that measures both temperature and humidity. It generates a digitally calibrated signal based on a sophisticated temperature and humidity sensor. The DHT11 is renowned for its exceptional precision and straightforward design, especially in comparison to alternative temperature sensors is depicted in Fig 2 [16].



Fig.2. DHT 11 Sensor

The BH1750 sensor is a module created for measuring fluctuations in light intensity is depicted in Fig 3. Its purpose closely resembles that of a lux meter, which quantifies light intensity in lux units. In its calculations, 1 lux (lx) corresponds to 1 lumen per square meter (lm/m2) or 1 candela per steradian per square meter (cd·sr/m2). To put it simply, if you concentrate 1000 lumens of light into a 1 square meter area, it will result in an illumination level of 1000 lux. This sensor operates within a voltage range of 3-5V and utilizes I2C communication. The BH1750 sensor is capable of measuring light intensity with a resolution spanning from 1 to 65535 lux and has physical dimensions of 13.9 mm \times 18.5 mm on its board [17].



Fig.3. BH1750 Sensor

The block diagram illustrates an electricity generation system that makes use of solar cells as its energy source is depicted in Fig 4. It is equipped with monitoring capabilities and has the primary objective of charging electric vehicle batteries. This system is commonly known as an Electric Vehicle Charging Station (EVCS). The main emphasis of this system lies in analyzing the consequences of various environmental factors. These factors encompass temperature, signifying how solar energy affects the solar cell surfaces and the heat conditions they experience. It also encompasses humidity conditions, which relate to the moisture levels in the surrounding air due to water vapor presence. Furthermore, the system considers the influence of the solar panels' tilt angles, impacting the absorption of solar energy on their surfaces. The block diagram description reveals that environmental factors exert the most substantial influence on electricity generation, before subsequent processing by other devices.



Fig.4. Block Diagram System

Within this electricity generation and monitoring system, there are humidity sensors and light intensity sensors affixed atop the solar panels. These sensors are responsible for detecting atmospheric moisture levels in RH% (Relative Humidity) and the brightness of sunlight, quantified as Lux. These sensor units are employed to collect comparative data in relation to energy measurements generated by the solar panels, encompassing Voltage (Volt), Current (Ampere), and Power (Watt).

The power generation system at the EVCS is augmented by an MPPT (Maximum Power Point Tracking) or solar charger component. Its primary function is to charge the battery by harnessing solar panel-derived energy for storage, particularly during nighttime when sunlight is unavailable. The energy stored in the battery is then utilized to provide power to connected loads. In the SPKL system, two distinct load voltage systems are present: a 220V AC system achieved through the conversion of voltage from 12V DC batteries using a power inverter unit, which transforms 12V DC into 220V AC, and a 48V DC load voltage system attained by converting 12V DC into 48V DC via a DC-to-DC power inverter. To facilitate the connection of loads at any preferred time, power socket outlets are provided. Each load can be powered with a capacity of up to 1000W for AC and 500W for DC loads.

III. RESULTS AND DISCUSSION

The process of introducing a solar panel system to the EVCS unit starts with a sequence of steps as follows: initially, creating the foundational unit frame or EVCS frame, which is subsequently followed by building the support structure for the solar panel, considering the panel's

surface area, and finally, proceeding to the fabrication of the EVCS frame. This system derives its power from solar energy, which is transformed into electricity by solar panels and subsequently stored in a battery using either a solar panel charger or MPPT (Maximum Power Point Tracking). The voltage, current, and power levels transferring from the solar panel to the solar panel charger system can be observed and tracked using a power meter. The battery's stored energy will be channeled to the DC-AC inverter for the purpose of powering electric vehicles that operate on an AC voltage input source. Furthermore, the energy stored in the battery can also be utilized to charge electric vehicles that rely on a DC voltage input source.



Fig.5. Implementation System

-		-					
No	Time	Temperature (⁰ C)	Humidity (RH%)	Light Intensity (Cd)	PV Voltage (V _{DC})	PV Current (A _{DC})	PV Power (Watt)
1	09.00	33.2	42	40.345	12.8	8.7	111.33
2	09.30	34.2	39	50.369	13.96	9.86	137.66
3	10.00	35.5	37	50.287	14	9.82	137.5
4	10.30	36.4	40	50.463	14.05	9.81	137.85
5	11.00	37.2	41	50.687	14.11	9.8	138.3
6	11.30	38.5	36	51.004	14.16	9.81	138.93
7	12.00	39.1	35	50.648	14.47	9.55	138.27
8	12.30	40.5	36	52.158	14.77	9.56	141.28
9	13.00	40.4	35	54.612	14.67	9.96	146.1
10	13.30	37.8	42	54.466	14.41	10.12	145.79
11	14.00	36.4	40	53.362	14.04	10.23	143.56
12	14.30	35.6	39	50.826	14.01	9.89	138.57
13	15.00	34.8	45	50.657	13.99	9.88	138.23
14	15.30	33.8	48	50.558	13.97	9.88	138.03
15	16.00	31.8	54	39.396	12.45	8.62	107.36
	Average	36.35	41	49.99	13.99	9.7	135.92

Table 1. Integration data results

https://jurnal.polines.ac.id/index.php/eksergi Copyright © EKSERGI Jurnal Teknik Energi ISSN 0216-8685 (print); 2528-6889 (online) The testing procedure for the components concludes with the gathering of data from each individual part. This data collection phase includes the temperature and humidity sensors, specifically the DHT11 sensor, the light intensity sensor employing the BHT1750 sensor, as well as voltage, current, and power measurements taken using a digital watt meter. Additionally, the manual determination of the solar panel tilt angle is part of this process. The data collection occurred on Saturday, July 23, 2023, commencing at 09:00 AM local time and concluding at 04:00 PM local time. It involved the acquisition of data related to temperature, humidity, light intensity, solar panel tilt angle, voltage, current, and panel power. During this phase, the researcher opted to test a 0degree angle, conducting data collection at 30-minute intervals from 09:00 AM to 04:00 PM local time. Following this, the researcher evaluated how this angle affected energyrelated parameters like voltage, current, and power. Additionally, the researcher assessed the impact of environmental factors, such as temperature, humidity, and light intensity. The data collected is presented in Table 1 below. It's worth noting that the weather conditions during the research remained partly cloudy until late afternoon.



Referring to Figure 6, which illustrates the environmental factors affecting the EVCS (Electric Vehicle Charging Station) and their impact on voltage, current, and solar panel power generation, the chart highlights that the peak power output from the 300 WP photovoltaic system is observed at 13:00, reaching 146.1 Watts. During this period, the light intensity is at its highest, measuring 54.61 Cd, while the temperature is relatively high at 40.4°C, and the humidity is at its lowest, recorded at 35%.

IV. CONCLUSION

The examination of the environmental data provided by Electric Vehicle Charging Station (EVCS) leads to several noteworthy conclusions:

- 1. Peak power output from the 300 WP photovoltaic system is observed at 13:00, reaching 146.1 Watt. The peak light intensity is 54.61 Cd, the temperature is high at 40.4°C, and the humidity is at 35%.
- Lowest power output from 300 WP photovoltaic system is observed at 16:00, reaching 107.37 Watt. The peak light intensity is 39.396 Cd, the temperature is low at 31.8°C, and the humidity is at 54%.

ACKNOWLEDGMENT

The authors thank Electric Vehicle Charging Station (EVCS) members for supporting this research.

REFERENCES

- A. K. Tripathi, S. Ray, M. Aruna, and S. Prasad, "Evaluation of solar PV panel performance under humid atmosphere," *Mater. Today Proc.*, vol. 45, no. xxxx, pp. 5916–5920, 2020, doi: 10.1016/j.matpr.2020.08.775.
- [2] B. W. Dionova, M. N. Mohammed, S. Al-Zubaidi, and E. Yusuf, "Environment indoor air quality assessment using fuzzy inference system," *ICT Express*, vol. 6, no. 3, pp. 185–194, 2020, doi: 10.1016/j.icte.2020.05.007.
- [3] R. R. Al Hakim, "Model Energi Indonesia, Tinjauan Potensi Energy Terbarukan Untuk KetahananEnergi Di Indonesia: Literatur Review," J. Pengabdi. Kpd. Masy., vol. 1, no. 1, pp. 1– 11, 2020.
- [4] R. Rakhmawati, Irianto, and B. W. Dionova, "Design and implementation of hybrid energy system for DC load applications," in *Proceedings - 2017 International Seminar on Application for Technology of Information and Communication: Empowering Technology for a Better Human Life, iSemantic* 2017, 2017, vol. 2018-Janua, pp. 109–114. doi: 10.1109/ISEMANTIC.2017.8251853.
- [5] M. Usman, "Analisis Intensitas Cahaya Terhadap Energi Listrik Yang Dihasilkan Panel Surya," *Power Elektron. J. Orang Elektro*, vol. 9, no. 2, pp. 52–57, 2020, doi: 10.30591/polektro.v9i2.2047.
- [6] P. Harahap, "Pengaruh Temperatur Permukaan Panel Surya Terhadap Daya Yang Dihasilkan Dari Berbagai Jenis Sel Surya," *RELE (Rekayasa Elektr. dan Energi) J. Tek. Elektro*, vol. 2, no. 2, pp. 73–80, 2020, doi: 10.30596/rele.v2i2.4420.
- [7] E. Syah, A. Asri, and A. Bintoro, "ANALISA PENGARUH PERUBAHAN SUHU TERHADAP TEGANGAN PANEL SURYA JENIS MONO CHRYSTALLINE KAPASITAS DAYA 50 Wp," J. Energi Elektr., vol. 11, no. 1, p. 22, 2022, doi: 10.29103/jee.v11i1.8260.
- [8] R. Hariningrum and S. Artikel, "Marine Science and Technology Journal Analisa Pengaruh Sudut Kemiringan Panel Surya100 WP Terhadap Daya Listrik Info Articles Abstrak", doi:

10.31331/maristec.v1i2.

- [9] M. S. Anrokhi, M. Y. Darmawan, A. Komarudin, K. Kananda, and D. L. Puspitarum, "Analisis potensi energi matahari di Institut Teknologi Sumatera: Pertimbangan Faktor Kelembaban dan Suhu," J. Sci. Appl. Technol., vol. 3, no. 2, p. 89, 2019, doi: 10.35472/jsat.v3i2.210.
- [10] H. A. Kazem and M. T. Chaichan, "Effect of humidity on photovoltaic performance based on experimental study," *Int. J. Appl. Eng. Res.*, vol. 10, no. 23, pp. 43572–43577, 2015.
- [11] V. Tulus Pangapoi Sidabutar, "Kajian pengembangan kendaraan listrik di Indonesia: prospek dan hambatannya," *J. Paradig. Ekon.*, vol. 15, no. 1, pp. 21–38, 2020, doi: 10.22437/paradigma.v15i1.9217.
- [12] I. P. Dharmawan, I. N. S. Kumara, and I. N. Budiastra, "Perkembangan Infrastruktur Pengisian Baterai Kendaraan Listrik Di Indonesia," *J. SPEKTRUM*, vol. 8, no. 3, p. 90, 2021, doi: 10.24843/spektrum.2021.v08.i03.p12.
- [13] Raditya, "Pengaruh kebijakan kendaraan listrik untuk menjawab isu perubahan iklim dan daya saing pariwisata indonesia," *JISMA J. Ilmu Sos. Manajemen, dan Akunt.*, vol. 1, no. 3, pp. 101–112, 2022.
- [14] R. Hasrul, "Sistem Pendinginan Aktif Versus Pasif Di Meningkatkan Output Panel Surya," J. Sain, Energi, Teknol. Ind., vol. 5, no. 2, pp. 79–87, 2021.
- [15] Fitria Hidayanti, "The_Effect_of_Monocrystalline_and_Polycr," Eff. Monocrystalline Polycryst. Mater. Struct. Sol. Cell Perfomance, vol. 8, no. No. 7, pp. 3420–3427, 2020.
- [16] G. M. Debele and X. Qian, "2020 17th International Computer Conference on Wavelet Active Media Technology and Information Processing, ICCWAMTIP 2020," 2020 17th Int. Comput. Conf. Wavelet Act. Media Technol. Inf. Process. ICCWAMTIP 2020, pp. 428–432, 2020.
- [17] J. Gao, J. Luo, A. Xu, and J. Yu, "Light intensity intelligent control system research and design based on automobile sun visor of BH1750," *Proc. 29th Chinese Control Decis. Conf. CCDC* 2017, pp. 3957–3960, 2017, doi: 10.1109/CCDC.2017.7979192.